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€1:=€¢+2 T9:=0.1 m E(r)::2—. : V:=10 kV

091 LRAHMEOREMANTERSHEITIRY,
V@) 4y <n, E(z,y)=0 er= (L7110 £
m
W>TO E(m‘,y) ::L
\/§+y2
\/m>e-r0 E(m‘,y)::()

E:=CreateMesh (E,—0.3,0.3,-0.3,0.3,200,200)

E(z,y):=||if <<:1:2+y2><0.01> E(0,170):100k_v
0 m
else if <<w2 +y2> <0.01 -e2>

\%4

\/az2 +y>1m

else
0
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Q9-2 LtEFREMMEE 20X TOZEEXRN2EZ0 2 BRMMABELLTER S
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V() +4 <ry E(z,y)=0 2-1n(§)+1n(2):1.307
v

\/(:c)z-I?>r0 E(x,y)::
\/ac_2+y2 -1.307

V)P 1y’ 2.1y E(z,y)=—V
\/ac_2+ ?.1.307

FE :=CreateMesh (E ,—0.3,0.3,-0.3,0.3,100, 100)

(0.1 -e)2 =0.074

E(z,y)=||if ((* +y*)<0.01) E(0.1,0)=76.511 %/
0

else if <<m2 +y2><0.04> E(0.2,0)=76.511 kV

b 2,0)=76.511 —

1.307-\Vz? +y* -1 m

elseif ((z* +y*) <0.074)

2.V
1.307-\Vz? +y% -1 m
else
0
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Q.9-3 LR REHMBEEZAERN LRI TIFZEEHERAVNELTER S
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V(z)® +y° <7y E(z,y):=0 Q:=(6.475-10"") L4
m
Ve +v>n  Bloy)= 9

13
z.ﬂ.—lo\/m2 +y2
2 2

z® +
V(z)? +y® >rgce  E(z,y):=0 : (ro-e>2:0.074 m?

E:=CreateMesh (E ,—0.3,0.3,-0.3,0.3,100, 100)

E(z,y):=||if ((932 +y2><0.01> |

) | B(0.18,0)=58.2 F
elseif ((z* +y*)<0.074) | (0.18,0)=58. ry
o ]
2'7‘-‘81‘1 m
else
0
solve, Q,
A P 731.33349874442258103 - £, - kV = (6.475-107°%) o]
2:¢mege1m m
731.3-kV £,=(6.475-10"°) L COEHEESIORICHRALTNS,
m
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simplify
v float,3 582.kv
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